Algebra 1 - Fall Semester

Benchmark Review
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Solve:

Solve:

Solve:
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Solve:

Solve

Solve

Solve

Solve

Solve

Solve

Solve

2c+51=-3
—26 =6t — 2
8u +6 —3u =141

—2n+10—-5n =17

22 =5b+7(b—2)

Ay —9)—10y =0

9r—6=8x+6

Sr+2=T7x—2

3—2r+8=06r+11—8r

8d+5—-3d=2+5d+3

94+3x+12=8x—9 — b5z

—2(5 — 8d) = 4(7 + 4d)

32— 12| =6

: |5h+8] =3

for z in the equation 3z + a = b.

for y in the equation a — 2y = 5b.

for P in the equation A = P + Prt.

for I in the equation F = Ir + IR.

: 3k+82>17

D Bp—2< —27
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Per/Sec. Date

Is w = 7 a solution to 4w — 17 > 37

Is ¢ =0 a solution to 3 + 7¢c < —177

Solve: 2n—11>3n+5

Solve: 12 —5u < 3u+13

Solve and graph: 2 >y + 10

Solve and graph: —24 > 8¢

Solve: —5 <2y —3 <23

Solve: 13 <4x+1<29

Solve and graph: 9+ 2u > 15 or 3 —4u > —1

Solve and graph: 5w +3<13 or 6—Tw < —15

Solve and graph: |6 —n| >5

Solve and graph: |3 — 5u| > 33

Solve and graph: |5k —4| <6

Solve and graph: |2p— 7| <13

Consider the function f(x) = —3z — 5. What
is f(—6)?

Consider the function h(z) = (z — 1)(z + 1).
What is h(8)?

What is the z-intercept of the line
-3z + 8y —24 =07

What is the z-intercept of the line
S5 — 7y + 35 =07



39.

40.

41.

42.

43.

44.

Graph a line with following intercepts:

z-intercept = 2, y-intercept =5

Graph a line with the following intercepts:

z-intercept = —1, y-intercept = —5

Find the slope of the line containing the points:

(_23 4) (_2’ 8)

Find the slope of the line containing the points:

(—3,6) (-3,0)

Find the slope of the line containing the points:

(6’ _8) (_2’ 6)

Find the slope of the line containing the points:

(_37 _3) (_97 7)
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45.

46.

47.

Find the slope of the line containing the points:
(2’ _8) (37 _8)

Find the slope of the line containing the points:
(7’ _5) (27 _5)

Graph the line of the equation y = %x — 5.

48. Graph the line of the equation y = %x + 4. Plot

points on the grid and not off the grid.




49. Graph the equation 2z + 7y = 21. 50. Graph the equation 6z + 5y = 30.
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27
ALG.GC.21

—4
ALG.GC.35

7
ALG.GE.69

-1
ALG.GE.70

3
ALG.GE.115

—6
ALG.GE.113

—4
ALG.GF.28

2
ALG.GF.23

infinitely many solutions

ALG.GF.75

infinitely many solutions

ALG.GF.73

no solution
ALG.GF .84

no solution
ALG.GF.104

2,6
ALG.OD.65

1. -4

5
ALG.OD.67
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15.

Answer: b_T“

CodePath: ALG.GH.55

16.

Answer: a_T‘E’b

CodePath: ALG.GH.56

17.

Answer: ﬁ

CodePath: ALG.GH.59

18.

Answer: HLR

CodePath: ALG.GH.60

19.

Answer: k>3

CodePath: ALG.OA.105

20.

Answer: p<-—5H

CodePath: ALG.OA.122

21.

Answer: w = 7 is a solution.

CodePath: ALG.OA.112

22.

Answer: ¢ =0 is not a solution.

CodePath: ALG.OA.121

23.

Answer: n<—16

CodePath: ALG.OB.21

24.

Answer: u > —%

CodePath: ALG.0B.22

25.

Answer: y< —8

. | | 1 | | | | \

A ! 4 i i i i
-12 -10 -8 -6 -4 -2 0

CodePath: ALG.OA.7

26.

Answer: c< -3

P | | | 1 | | \

N I 1 I T | |
-6 -5 -4 -3 -2 -1

CodePath: ALG.OA.52



27.

Answer: -1<y<13
CodePath: ALG.0C.45

28.

Answer: 3z <7
CodePath: ALG.OC.46

29.

Answer: u<l or u>3
. | Il | L | |
N I T | T 1 I

|
-1 (I) 1 2 3 4 5
CodePath: ALG.0C.49

30.

Answer: w<2 or w>3

s | | 1 Py | |

N I 1 T T 1 I
0 1 2 3 4

CodePath: ALG.OC.50

31.

Answer: n<l or n>11

DY | | | | It

L i i i i g
1 3 5 7 9 11

CodePath: ALG.OE.63

32.

Answer: u > 35—6 or u<-—6

PR G N N N T I

T T T T 1 1

|
T

-6 -5 -4-3-2-10 1 2 3
CodePath: ALG.OE.84

33.
Answer: —% <k<2
| | | | 1 | |
| | 1 1 * | |
-2 -1 0 1 2 3 4
CodePath: ALG.OE.78
34.
Answer: Solve: —3 <p <10

| & | | | | |

| T | | | | : : : :
—4-3-2-10 1 2 3 4 5 6
CodePath: ALG.OE.83

35.

Answer: 13
CodePath: ALG.DA.10
36.

Answer: 63
CodePath: ALG.DA.35
37.

Answer: 8

CodePath: ALG.PE.94
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Answer:
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-7
ALG.PE.95

Line passes through (2,0) & (0,5).
ALG.PF.73

Line passes through (—1,0) &
(0, -5).
ALG.PF.76

undefined
ALG.PA .43

undefined
ALG.PA.20

7

1
ALG.PA.16

5

3
ALG.PA.34

0
ALG.PA.21

0
ALG.PA.40

Line passes through (0, —5) and
(5, —4).
ALG.PE.27

Line passes through (0,4) and
(—2,-1).
ALG.PE.26

Line passes through (0, 3) and
(7,1).
ALG.PE.89

Line passes through (0,6) and
(5,0).
ALG.PE.93



